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Linear Piecewise Transformations 

The function f(x) is shown below. In each case it is being transformed to give a new function, g(x). Start by identifying the key points of f(x). Then, using a separate paper, in each case:

a) Build an input/output diagram for g(x) using the equation, and add the key points of f(x)

b) Work outwards in your input output diagram to identify inputs and outputs of g(x)

c) Graph the transformed function g(x) using the points from your input-output diagram

d) Identify the transformations applied to f(x) to result in g(x). Use your graph or I/O diagram.
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